# **OTHER CERTIFICATES**

### Certificate course in forensic Nursing – Ms.Priyanka Gujar

GLORIOUS INTERNATIONAL NURSING RESEARCH AND ACADEMIC (GINRA) FOUNDATION Adichunchanagiri College of Nursing, Adichunchanagiri University Mandya, Karnataka, India





Ms. Priyanka Gujar

Clinical Instructor MKSSS,Sitabai Nargundkar College of Nursing, Nagpur, Maharashtra (Registration No.: CCFN9OO4/196)

for successful completion of all required evaluation processes for the

### "CERTIFICATE COURSE IN FORENSIC NURSING"

### Course Code: (CCFN9004)

Organized by Glorious International Nursing Research and Academic (GINRA) Foundation in association with

Adichunchanagiri College of Nursing, Adichunchanagiri University, BG nagar Mandya

### Conducted between 26th June to 29th July, 2023









Principal,

Director

Executive Director Adichunchanage
Dr. Ravindra H N Prof. Change

Adichunchanagiri College of Nursing Prof. Chandrashekar H C

Issued on: 29.07.2023 (Certificate No.: 90004196) AshISH Chokhare – Assistant admin officer Masters of Commerce. 7/8/23, 6:43 PM

(#)

about blank

Yashwantrao Chavan Maharashtra Open University Dnyangangotri near Gangapur Dam, Nashik, Pin Code-422222, Maharashtra(India)

Statement Printed From Yashwantrao Chavan Maharashtra Open University Portal Home Page

	IOKHARE ASH	ISH	GANE	SH			r's Name				2			
	3017002685712						umber: l		100	1773			10.0	
	CENTRAL INST PMENT, Nagpu			BUS	INES	S M.	ANAGE	ME	NT	RES	EAR	CHAP	ND	
Exam Cen	iter: 18	11 /		1	E	xam	Venue C	ode;	443	54	10	1		
Course Code	Course Name	AM	UA		CA		Total		Cr	Gr	GP	EGP	Rmk	
			Min/ Max	Obt	Min/ Max	Obt	Min/ Max	Obt		J				
COMIII	Management Accounting-I	TH	/80	54	-/20	18	40/100	72	4	A+	9.00	36.00	E,X	
COM112	Management Accounting-II	TH	/80	48	-/20	19	40/100	67	4	A	8.00	32.00	E,X	
ACG101	Advanced Accounting-I	TH	/80	56	-/20	18	40/100	74	4	A+	9.00	36.00	E,X	
ACG102	Advanced Accounting-П	тн	/80	50	-/20	19	40/100	69	4	A	8.00	32.00	E,X	
Semester	Credits:16				EGP:136.00				SGPA:8.50				Status: Pas	
COM231	Business Economics-I	тн	/80	31	-/20	17	40/100	48	4	с	5.00	20.00	E,X	
COM232	Business Economics-II	тн	/80	28	-/20	17	40/100	45	4	C	5.00	20.00	E,X	1
ACG201	Auditing-I	TH	/80	38	-/20	18	40/100	56	4	B+	7.00	28.00	E,X	]
ACG202	Auditing-II	TH	-/80	43	-/20	19	40/100	62	4	A	8.00	32.00	E,X	1
GEN204	Communication Skills	тн	/80	62	-/20	18	40/100	80	4	0	10.00	40.00	E,X	1
Semester II			Credits:16				EGP:100.00				PA:6.2	Status: Pas		
COM331	Strategic Management-I	ТН	-/80	41	-/20	18	40/100	59	4	B+	7.00	28.00	E,C	
COM332	Strategic Management-II	TH	/80	47	-/20	19	40/100	66	4	A	8.00	32.00	E,C	
ACG301	Direct Taxes	TH	/80	42	-/20	18	40/100	60	4	A	8.00	32.00	E,X	]
ACG302	Indirect Taxes	TH	/80	35	-/20	17	40/100	52	4	B	6.00	24.00	E,C	
Semester III		Credits:16				EGP:116.00				SGPA:7.25				Status: Pas
COM431	Corporate Finance And Laws-I	TH	/80	52	-/20	19	40/100	71	4	A+	9.00	36.00	E,C	
COM432	Corporate Finance And Laws-II	TH	/80	49	-/20	18	40/100	67	4	A	8.00	32.00	E,C	
COM433	Research Methodology-I	TH	/80	62	-/20	18	40/100	80	4	0	10.00	40.00	E,C	

## Soft skills and Personality development • --NANCY DOMINGO

